SI Session 3.4
What’s the difference between lipid and protein hormone metabolism?




For a positive feedback loop, effectors make adjustments in the ________ direction as the initial event 

For a negative feedback loop, effectors make adjustments in the ________ direction as the initial event 

Negative feedback will regulate the __________ release of LH to support the CL until PGF2a causes CL regression 

Describe the neural/endocrine loop from a calf suckling on a teat 





What is puberty? What are the signs of puberty and what does it depend on?




What is the key central event of puberty?

Describe some differences between male and female endocrine profiles and hypothalamic structures 






Describe the onset of puberty in females 








Describe the onset of puberty in males






What are GnRH neurons influenced by?
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